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Note: Based on the drawing bbX3456
http://atlas.kek.jp/si-soft/geometry/bbX3456.pdf

http://atlas.kek.ip/si-sof:c/geometrv/SCTBarreII\/Iount.pdf
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The sensor plane has +11.0 or 10.5 degrees with
respect to the global coordinate. Due to
geometrical constraints, any particles generated
at IP have complex correlations among Pt values,
Pt signs, local ¢ , local x as well as stereo angles

(+— 40mrad).
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http://atlas.kek.jp/si-soft/geometry/bbX3456.pdf
http://atlas.kek.jp/si-soft/geometry/SCTBarrelMount.pdf
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